D.A.V. INSTITUTIONS, WEST BENGAL ZONE
PERIODIC TEST-II
SESSION - 2024-2025
CLASS -X MAX. MARKS - 50
SUBJECT — ARTIFICIAL INTELLIGENCE (417) TIME -2 HOURS

General Instructions:

1. Please read the instructions carefully.

2. This Question Paper consists of 21 questions in two sections: Section A & Section B.

3. Section A has Objective type questions whereas Section B contains Subjective type questions.

4. Out of the given (5 + 16 =) 21 questions, a candidate has to answer (5 + 10 =) 15 questions in the allotted
(maximum) time of 2 hours.

5. All questions of a particular section must be attempted in the correct order.

6. SECTION A - OBJECTIVE TYPE QUESTIONS (24 MARKYS):

i. This section has 05 questions. ii. Marks allotted are mentioned against each question/part.
iii. There is no negative marking. iv. Do as per the instructions given.

7. SECTION B — SUBJECTIVE TYPE QUESTIONS (26 MARKS):

i. This section has 16 questions. ii. A candidate has to do 10 questions.

ii1. Do as per the instructions given. iv. Marks allotted are mentioned against each question/part.

SECTION A: OBJECTIVE TYPE QUESTIONS

Q.1 Answer any 4 out of the given 6 questions on Employability Skills (1 x 4 = 4 marks)

1. Ashish had put on weight as a result of his poor eating habits and unhealthy lifestyle. He
was a big foodie who never worried about his weight. Looking at his increasing weight,
people started mentioning it to him. So, one day he decided to change his daily regime and
started going on walk, doing yoga and followed a healthy diet. Now he maintains his 1
weight and lives a healthy lifestyle. What type of motivation did Ashish demonstrate?
A) Self-awareness B) Work independently C) Financially independent D) Food
management

ii. Statement 1: Self-motivation teaches us self-discipline and hard work to achieve our goals.
Statement 2: Individuals experience increased anxiety and boredom when they motivate
themselves.
(A) Both Statement 1 and Statement 2 are correct. 1
(B) Both Statement 1 and Statement 2 are incorrect.
(C) Statement 1 is correct but Statement 2 is incorrect.
(D) Statement 1 is incorrect but Statement 2 is correct.

1il. Which of these is NOT a common communication barrier? 1
A) Linguistic barrier B) Interpersonal barrier C) Financial barrier D) Physical barrier
iv. Which of the following is an example of negative feedback?
A) You can dance better.
B) Your Dance was good but you can do better. 1
C) Your Dance skill is not really good. You have to practise more.
D) None of the above
\A The short cut key to open a new file in notepad is :
A)ctrl +e B) ctrl +w 1
C)alt+n D) ctrl +n
vi. A is a software or firmware that prevents unauthorised access to a network.
A) Cookies
B) Firewall
C) Icewall 1

D) Antivirus



ii.

iii.

iv.

vi.

ii.

iii.

iv.

Answer any 5 out of the given 6 questions (1 x 5 =5 marks)
Raman is a spiritual guru who has a very good religious and spiritual awareness. Among the
following, what kind of intelligence?
A) Naturalist intelligence B) Interpersonal intelligence
C) Existential intelligence D) Kinaesthetic intelligence
Artificial Intelligence (Al) is a discipline that aims to create robots that are intelligent
enough to do jobs that are typically performed by humans only. Identify which of the
following aspects is still beyond the capabilities of artificial intelligence.
(1) Numerical ability (ii) High processing power (iii) Emotional intelligence (iv) Speech
recognition
A) (1) and (iii) only B) (ii) and (iii) only C) (i), (ii) and (iii) D) Only (iii)
A person’s ability to regulate, measure and understand numerical symbols abstraction and
logic is called .
A) Mathematical Logical Reasoning B) Musical Intelligence
C)Intrapersonal Intelligence d) Linguistic Intelligence
The world of Artificial Intelligence depends upon
A) Data
B) Smart Phone
C) Smart Car
D) Value
related projects translate digital visual data into descriptions.
A)Natural Language Processing B) Computer Vision C) Data Science D) None of
the above
Whenever you download an app and install, it asks you for several permissions to access
your phone’s data in different ways. So the data which is collected by applications
is

A) Ethical B) Unethical C) Illegal D) Weak
Answer any 5 out of the given 6 questions (1 x 5 =5 marks)
Rohit is working on a supervised learning model by taking discrete dataset. Guide him the
type of supervised learning model he should opt for.
A) Classification B) Regression C) Both of the above D) None of the above
The unsupervised learning algorithm which can cluster the unknown data according to the
patterns or trends identified out of it is known as
A) Clustering  B) Dimensionality Reduction C) Non-Clustering D) Association
Under the block, you need to determine the nature of the problem.
A) Where B) Why C) What D) Who
Statement 1: The data with which the machine can be trained is the testing data
Statement 2: The data with which the model is evaluated is the training data
A) Statement 1 is correct and Statement 2 is incorrect
B) Statement 2 is correct and Statement 1 is incorrect
C) Both Statement 1 and Statement 2 are correct
D) Both Statement 1 and Statement 2 are incorrect
Match the best choice graph for the data below.
1. Chart to show the number of students in a school over past 5 years
2. Chart to show the temperature on each day of the week.
3. Chart to show percentage of each sale of ticket type at a concert.
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A) 1->1) ; 2->1i) ; 3->iii) B) I->1) ; 2->1i1) ; 3->1ii)
C) 1->iii) ; 2->1) ; 3->1i) D) 1->iii) ; 2->1ii) ; 3->1)




vi.

ii.

iii.

iv.

vi.

Q.5

ii.

iii.

iv.

vi.

While designing a surveillance system for the premises where a costly diamond was to be
kept for exhibition, we do the following tasks.

a) Get photographs of all the authorised people.

b) Get photographs of all the unauthorised people.

¢) Get photographs of the premises.

d) Get photographs of all the visitors.

Which stage of Al project cycle are we talking about?

A) Problem Scoping B) Data Exploration C) Modelling D) Data Acquisition
Answer any 5 out of the given 6 questions (1 x 5 =5 marks)

The is the value that appears most often in set of data values.

A) Mean B) median C) mode D) range

The of a set of data is the middlemost number value in the set.
A) Mean B) median C) mode D) range

What does CSV stand for?
A) Comma separated values B) Computer spreadsheet values
C) Centralized storage volumes D) Compressed structured variables

Which companies use data science to improve user experience through product
recommendations?

A) Amazon, Twitter, Google Play, Netflix, LinkedIn, IMDB

B) Yahoo, Bing, Ask, AOL

C) All of the above

D) None of the above

A(n) image is an image in which the only colours are shades of grey.
A) RGB B) Grayscale C)B&W D) grey

The number of pixels in an image is called of image.

A) Dimension B) Width C) Resolution D) Height

Answer any 5 out of the given 6 questions (1 x 5 =5 marks)

In systems, the Al models are developed using the algorithms having

predefined data, rules, patterns and relationships.

A) Learning based

B) Rule based

C) Robotics

D) All of these

In a class, a teacher has grouped students according to their level of intelligence like Below

Average, Average, Above Average and Brilliant to evaluate their academic performance.

This is an example of:

A) Regression B) Classification C) Clustering D) Association

The crucial part of intelligence is

A)Understanding B) Decision Making C) Self-Awareness D) Recognition

Which of the following is/are some ethical issue(s) around AI?

A) Bias and Fairness B) Accountability C) Cyber Security D) All of these
is an open-source library that includes several hundreds of computer vision

algorithms.

A)CV B) Python-CV C) OpenCV D) All of these

A(n) image is a coloured image that is formed by the three-colour information

stored for each pixel of a digital image.

A) RGB B) Grayscale C)B&W D) grey



SECTION B: SUBJECTIVE TYPE QUESTIONS

Answer any 3 out of the given 5 questions on Employability Skills (2 x 3 = 6 marks)
Answer each question in 20 — 30 words.

Q.6

Q.7

Q.8

Q.9

Q.10

Describe a situation where you had to explain a technical concept to a non-technical
audience. How did you ensure they understood?

Explain any four Cs of effective communication?

Ranjan is a senior manager at an I'T company. With his busy schedule and heavy workload,
he is experiencing a high level of stress. Recommend four stress management techniques to
help him enjoy his work more.

Garima is a Class X student who was recently instructed by her teacher to focus on SMART
goals and learned about each component. However, she has since forgotten the full form of
SMART, only recalling that “S” stands for Specific. Can you provide her with the complete
full form of SMART?

Your school computer lab recently experienced a malware attack that affected several
computers. Explain how will you stop and remove the malware from an infected computer.

Answer any 4 out of the given 6 questions in 20 — 30 words each (2 x 4 = 8 marks)

Q.11

Q.12

Q.13
Q. 14

Q.15
Q.16

You are tasked with creating an Al model to recommend books to students. During the
problem scoping phase, what key factors would you consider to define the problem
accurately?

Write any four methods to acquire the data for Al systems.

State two differences between Supervised and Unsupervised learning.

Sumit is a social worker associated with environmental movement. Since last 10 years he is
trying to focus on all the points of SDG. Suggest him any of the two SDGs according to the
UNESCO, which can be used to make the world a better place to live.

Give an example of how Data Science is used in the financial industry.

Explain the significance of google lens in smartphone Applications?

Answer any 3 out of the given 5 questions in 50— 80 words each (4 x 3 = 12 marks)

Q.17

Q.18

Q.19
Q.20

Q.21

As Artificially Intelligent machines become more and more powerful, their ability to
accomplish tedious tasks is becoming better. Hence, it is now that Al machines have started
replacing humans in factories. While people see it in a negative way and say Al has the
power to bring mass unemployment and one day, machines would enslave humans, on the
other hand, other people say that machines are meant to ease our lives. If machines over
take monotonous and tedious tasks, humans should upgrade their skills to remain their
masters always.

What according to you is a better approach towards this ethical concern? Justify your
answer.

Write short notes on the following:

1) Image classification

i1) Localisation

ii1) Object detection

v) Image segmentation

Explain Reinforcement Learning with suitable diagram.

What is Data Exploration? Write any four tools for data visualization.

Write any four data types/formats used in data science projects.

“Data science is multidisciplinary field”- Justify this statement.
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General Instructions: -
1. The question paper contains 7 printed pages.
2. The question paper contains 16 questions.
3. The question paper is divided into two Parts.
PART —A: Objective type paper (MCQ): 25 Marks
PART —B: Descriptive type paper: 55Marks
4. PART -A has three sections: (MCQ)
Section — A: Reading (Unseen Comprehension): 12 Marks
4. Section- B: Grammar: 03 Marks
5. Section - C: Main Course Book & Supplementary Reader: 10 Marks
PART -B has three sections: (Subjective)

6. Section - B: Grammar: 10 Marks
7. Section — C: Main Course Book & Supplementary Reader: 33 Marks
8. Section — B: Creative writing : 12 Marks
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D.A.V. INSTITUTIONS, WEST BENGAL ZONE
PERIODIC TEST-II

SESSION: 2024-2025
CLASS: X MAXIMUM MARKS: 80
SUBJECT: ENGLISH COMMUNICATIVE TIME: 3 HOURS

General Instructions:

1. 15-minute prior reading time allotted for Question paper reading.

2. The Question Paper contains FOUR sections-READING SKILLS, WRITING SKILLS, GRAMMAR
and LITERATURE TEXTBOOK.

3. Attempt questions based on specific instructions for each part.

SECTION A: READING SKILLS (22 MARKS)
1. Read the following passage. (12)
A. One in six people are aged 10-19 years. Adolescence is a unique and formative time.
Protecting adolescents from adversity, promoting socio-emotional learning and
psychological well-being, and ensuring access to mental health care are critical for their
health and well-being during adolescence and adulthood.

B. Globally, it is estimated that 1 in 7 (14%) 10-19-year-olds experience mental health
conditions, yet these remain largely unrecognized and untreated.
C. Adolescents with mental health conditions are particularly vulnerable to social exclusion,

discrimination, stigma, educational difficulties, risk-taking behaviours, physical ill-health
and human rights violations.

D. Mental health determinants
Adolescence is a crucial period for developing social and emotional habits important for
mental well-being. These include adopting healthy sleep patterns; exercising regularly;
developing coping, problem-solving, and interpersonal skills; and learning to manage
emotions. Protective and supportive environments in the family, at school and in the wider
community are important.

E. Multiple factors affect mental health. The more risk factors adolescents are exposed to, the
greater the potential impact on their mental health can exacerbate the disparity between an
adolescent’s lived reality and their perceptions or aspirations for the future. Other important
determinants include the quality of their home life and relationships with peers.

F. Emotional disorders are common among adolescents. Anxiety disorders (which may involve
panic or excessive worry) are the most prevalent in this age group and are more common
among older than among younger adolescents. It is estimated that 3.6% of 10—14-year-olds
and 4.6% of 15—19-year-olds experience an anxiety disorder. Depression is estimated to
occur among 1.1% of adolescents aged 10—14 years, and 2.8% of 15—-19-year-olds. Factors
that can contribute to stress during adolescence include exposure to adversity, pressure to
conform with peers and exploration of identity. Media influence and gender norms,
depression and anxiety share some of the same symptoms, including rapid and unexpected
changes in mood.

G. Behavioural disorders are more common among younger adolescents than older adolescents.
Attention deficit hyperactivity disorder (ADHD), characterized by difficulty paying
attention, excessive activity and acting without regard to consequences, occurs among 3.1%
of 10—14-year-olds and 2.4% of 15—19-year-olds. Conduct disorder (involving symptoms of
destructive or challenging behaviour) and behavioural disorders can affect adolescents’
education and social life.

H. Eating disorders, commonly emerge during adolescence and young adulthood. Eating
disorders involve abnormal eating behaviour and preoccupation with food, accompanied, in
most instances, by concerns about body weight and shape.

(396 words)
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Answer the following questions, based on the passage above.

The paragraph explicitly mentions

A. Importance of specific programs used to promote mental health.

B. The research supporting the effectiveness of various interventions.

C. Various mental health conditions and disorders that affect adolescents.

D. The potential challenges or barriers to implement these interventions.

List 2 crucial habits for mental well-being during adolescence. (Answer in 30-40 words)
Which of the following statements best summarizes the main idea of paragraph D?

A. Adolescence is a period marked by physical, emotional, and social changes.

B. Protective and supportive environments are crucial for adolescent mental well-being.
C. Mental health conditions among adolescents are often unrecognized and untreated.
D. Risk factors during adolescence can significantly impact mental health outcomes.
After which paragraph of the above article, would the following paragraph most likely be
placed?

Mental health promotion and prevention interventions aim to strengthen an individual's
capacity to regulate emotions, enhance alternatives to risk-taking behaviours, build
resilience for managing difficult situations and adversity, and promote supportive social
environments and social networks.

A. After paragraph C

B. After paragraph H

C. After paragraph B

D. After paragraph F

Briefly discuss (in 30- 40 words) any 2 factors that contribute to stress during adolescence.
Substitute the underlined word in the following sentence with a word/ phrase from
paragraphs D-F, that means the same.

Violence, harsh parenting, social exclusion and stigma can inflame seclusion and loneliness.
Complete the sentence appropriately.

If the title, “Cultural Diversity and Adolescent Identity Formation” is given to the passage,
it would be an inappropriate title, as compared to "Understanding Adolescent Mental
Health: Challenges and Interventions” because

Complete the sentence appropriately.

Behavioural disorders, which is more common among young adolescents, can arise from
complex interplay of factors and results in

Complete the following sentence appropriately.

Based on the use of the word “conform” to describe factors that can contribute to stress
during adolescence, in Paragraph F, we can infer that adolescents often experience pressure
to

State whether the given assertion is TRUE or FALSE on the basis of the understanding of
the passage.

Educational achievements and social life of adolescents can be affected by behavioural
disorders

\S}



2 Read the following table of a survey about the choices of cars among six

(10)

respondents.

Respondent’s Respondent’s | Type | Fuel Model | Number | Would Reasons for not
Name and age Profession of car | (Petrol, | of the | of people | consider using public

(Small, | Diesel, | car travelling | change in | transport/

Big, CNG, in car Transport? | carpooling  or

SUV) | Electric Specify car | bicycle

Vehicle) pool, bus or
bicycle

Mr. Sujoy Sharma | Promoter/ SUV CNG Top 02 No Fast movement
42 years Developer model required
Ms. Moitreyee | Teacher Small | EV Base |01 Yes, Car | Not Applicable
Halder model pool
29 years
Mr. Atul Kulkarni | Magazine Big Diesel Top 02 No Fast movement
56 years Editor model required
Dr. Nitin Shekhar | Cardiologist | Small | EV Top 02 Yes, Car | Not Applicable
58 years model pool
Mrs. Sudha Pandit | Garment Small | Petrol Base |02 Yes, Car | Not Applicable
48 years shop owner model pool
Mr. Abani | Govt. Service | Big Diesel | Base |04 No Fast movement
Karmakar model required
50 years

(143 words)
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Answer the following questions based on the above table.
Who among the above respondents believes that car is essential for impressing others? Give one
reason in support of your answer.
Who among the following is the most modern and rational so far car is concerned?
A. Mr. Sujoy Sharma
B. Ms. Moitreyee Halder
C. Mrs. Sudha Pandit
D. Mr. Abani Karmakar
Justify the statement with one evidence from the table that
‘Ms. Moitreyee Halder wishes to be independent’.
Select the correct option to complete the analogy.
Agreement paper: Mr. Sujoy Sharma:: Cumulative Card: ---
Who, among the following, is likely to be very busy before religious festivals in India?
A. Mrs. Sudha Pandit
B. Ms. Moitreyee Halder
C. Dr. Nitin Shekhar
D. Mr. Abani Karmakar
Complete the given sentence with the appropriate reason, with reference to the information in the
table.
‘Government is emphasising on cost curtailment which is reflected in

If a country celebrates 'Fourth Pillar of Democracy' who among the following respondents is
likely to attend?

A. Mr. Atul Kulkarni

B. Mr. Abani Karmakar

C. Dr. Nitin Shekhar

D. Mr. Sujoy Sharma

2

1
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6.b.

Select the option that correctly matches the car of the respondents and the refuelling stations in
sequence.

A. Mr. Sujoy Sharma, Ms. Moitreyee Halder, Dr. Nitin Shekhar
B. Dr. Nitin Shekhar, Mrs. Sudha Pandit, Ms. Moitreyee Halder
C. Mr. Atul Kulkarni, Mr. Sujoy Sharma, Dr. Nitin Shekhar
D. Mr. Sujoy Sharma, Mrs. Sudha Pandit, Ms. Moitreyee Halder

SECTION B: WRITING SKILLS (22 MARKS)
As the school head girl/ head boy, write an email, in about 50 words, to the Teacher in Charge of
your school, informing her/him of the need for 70 saplings on the occasion of Vanmahotsav.
Include a reason why you would need some space inside the school campus.
You may copy the given template to write your email.
From:
To:
Cc:
Date: July 3, 2024, 08:05 PM
Subject:

Write a factual description, in not more than 100 words, of a school senior, whom you met after
years, as the newly recruited HPE teacher of your school.
Write a letter to an NGO named “Jugaad”, in not more than 120 words, to conduct a workshop
in your school to teach how to make various crafts by recycling waste products and how it can
save our environment from garbage and pollution. You are the Head of the Eco-Club of your
school. You may use ideas from UNIT: 3 SCIENCE, along with your own ideas to write the
letter.

(OR)
Suppose you are the School Captain of DAV Public School Loknath Nagar. Write a letter, in not
more than 120 words, to the Director of ‘Prayas’, an indigenous games promoting institute, to
organize indigenous games exhibition matches in the school as a part of Shiksha Sapta
celebration by CBSE. You may use ideas from UNIT: 1 HEALTH AND MEDICINE, along with
your own ideas to write the letter.
As a student of class 10 you have noticed, that many children, have taken admission, in your
school, who have some or the other learning difficulties or physical predicament. You find them
very happy in the school and very happily participating in different activities. Write an article for
your school magazine in 150 words on ‘Inclusive Education promotes equity’. Use the given
cues, along with your own ideas and those you may have gathered from UNIT 2:°‘EDUCATION’
to create this article.

Equal before the law- Same content and standard of learning- Not separated for disability-
a better social view develops- Learn social responsibility- Assessed with different
parameters- develops zest for living

(OR)
You are the Captain of the Science Club of your school. You have realized that modern
technology will leave an unerasable mark on the learning process in school education. Draft an
article in 150 words to be published in the school magazine on ‘Use of Technology in

Education’. Use the given cues, along with your own ideas and those you may have gathered
from UNIT 3: ‘SCIENCE’ to create this article.



(A)

(B)
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Plethora of informations — digital books — ChatGPT - easily accessible — no time constrain
— CBSE Jadui Pitara — Diksha (Digital Content Portal of the government of India)

SECTION C: GRAMMAR (10 MARKS)
Complete the tasks A-C, as directed.
Fill in the blanks (i) — (iii) with the appropriate option from those in the brackets.
The stray dogs(i) (ought not/ may not/ should not) be adopted as pets, still they can
be fed. This(ii) (should/ must/ would) not only make the dogs less aggressive but
also get them to behave like pets. If we want to tackle the problem, we should also be
(111) (prepare/ prepared/ will prepare) to do our bit to solve it.
The following paragraph, has not been edited. There is one error in each line. Write the incorrect
word and the correction against the lines, as shown below. The first one has been done as an
example.

No. | Text Incorrect | Correct
e.g. | Homi Bhabha slept much less as other children as than
i of his age. His parents taken him to

ii little doctors, who subjected him to several
iii | tests, after that they discovers that he

iv | had the super-active brain capacity.

Do as directed.

(i)Rearrange the following jumbled words/phrases in the given dialogue to create a
meaningful sentence.

Anushka : Do you have any idea how old Saturn is?

Pratima : Not exactly. Please tell me about it.

Anushka : years ago/it is estimated/that/with the rest/Saturn was/formed along/of the/about
4.5 billion/Solar System

Report the dialogues to complete the paragraph that follows.

Rajat: Father, I want your room.

Father: Why?

Rajat: I have to receive a friend.

Father: You have your own room.

Rajat: My room is too small. I can’t show it to Rahul.

Rajat sought his father’s permission to use his room because he had to receive a friend. His
father said that he (i) own room. Rajat replied that his room
(i1) to be shown to Rahul.

SECTION D: LITERATURE TEXTBOOK (26 MARKS)
Read the given excerpts and answer the questions briefly, ANY TWO, of the three given
questions.
But next morning, when I went over to the fountain to have my shoes shined, I said, "Nicola,
the way you and Jacopo work, you must earn quite a bit. You spend nothing on clothes. You eat
little enough --- when I see you have a meal it's usually black bread and figs. Tell me, what do
you do with your money?"
He coloured deeply under his sunburn, then grew pale. He looked to the ground.
"You must be saving up to emigrate to America," I suggested. He looked at me sideways, spoke
with an effort.
"We should greatly like to go to United States. But here, at present, we have other plans."
"What plans?"
He smiled uncomfortably. "Just plans, sir," he answered in a low voice.
(Tiwo Gentlemen of Verona)
Identify the phrase which indicates that though the boys earned fairly enough, they didn’t have
proper appetite?

10
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1x4=4
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4+4=8
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Why did Nicola’s face appear ‘coloured’ when the narrator questioned him about his use of
money?
Briefly explain the reason behind Nicola’s ‘uncomfortable smile' while answering the narrator’s
question?
What character trait of the two brothers is reflected as they spent very little on themselves?
Not marble, nor the gilded monuments
Of princes, shall outlive this powerful rhyme;
But you shall shine more bright in these contents
Than unswept stone, besmear'd with sluttish time.
(Not Marble, nor the Gilded Monuments)
What can we infer about the poet’s tone from the stanza?
List the meaning of the phrase “shine more bright in these contents”.
Why does the poet refer to time as being ‘sluttish’?
Why did the poet use the word ‘stone’ instead of ‘statue’?
MRS. JORDAN: Oh, yes. It's a fatal mistake.
MRS. SLATER: Pringle attended him when he was alive and Pringle shall attend him when
he's dead. That's professional etiquette.
BEN: Well, you know your own business best, but-
MRS. JORDAN: Yes-it's a fatal mistake.
MRS. SLATER: Don't talk so silly, Elizabeth. What good could a doctor have done?
MRS. JORDAN: Look at the many cases of persons being restored to life hours after they were
thought to be 'gone'.
HENRY: That's when they've been drowned. Your father wasn't drowned, Elizabeth.
BEN: (humorously) There wasn't much fear of that. If there was one thing he couldn't bear, it
was water.
(The Dear Departed)
What ‘fatal mistake’ is Mrs. Jordan talking about?
Mrs. Slater says that “Pringle attended him when he was alive and Pringle shall attend him
when he's dead.” State the irony of the line.
Find out a statement from the given conversation that shows disrespect towards Abel
MerryWeather.
The phrase ‘fatal mistake’ has been repeated twice in the given excerpt. What do you think
about the assumption of the characters as far as Abel MerryWeather is concerned?
Answer ANY FIVE of the following six questions in about 30 — 40 words each.
The frog, in the poem ‘The Frog and the Nightingale’, promised saying “Oh!... But it won’t
hurt, you’ll see”. Elaborate how the statement of the frog was ironical.
What does the writer, Saki, wish to convey through the given line from the fiction, Mrs
Packletide s Tiger?
.... Mrs. Packletide was an exception, her movements and motives were largely governed by
dislike of Loona Bimberton.
The postman understood Ali’s situation when the postman stepped into his shoes. Comment in
the light of the story ‘The Letter’.
In the story, 4 Shady Plot, how is Hallock’s character a commentary on a good husband?
Elucidate how ‘Not Marble, nor the Gilded Monuments’ by William Shakespeare and
‘Ozymandias’ by P.B. Shelly have contrasting themes?
The line “The hand that mocked them, and the heart that fed,;” does not name whose hand and
whose heart. Explain how is the given line aligned to the theme of the poem, ‘Ozymandias™?
Answer ANY ONE of the following two questions in about 150 words.
The Letter by Dhumaketu and The Dear Departed by Stanley Houghton, both have two elderly
characters- Ali and Abel MerryWeather respectively. Elaborate with instances from the fiction
and the drama, in about 150 words, how both of them have contradictory old age.

(OR)
Suppose, Lavinia, writes a letter to her friend, who is the editor of a women’s magazine, about

her encounter with a ghost which had live propositions. Write the letter in 150 words.
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D.AV.INSTITUTIONS, WEST BENGAL ZONE
PERIODIC TEST -1l
SESSION: 2024-2025

CLASS: X MAXIMUM MARKS: 80

SUBJECT: MATHEMATICS TIME: 3 HOURS
General Instructions:

No ok~ wnE

The question paper consists of 38 questions of 6 printed pages and divided into 5 sections A,B,C,D and E.
All questions are compulsory.
Section-A comprises of 20 MCQ questions of 1 mark each.
Section-B comprises of 5 questions of 2 marks each. Internal choice has been provided in 2 questions.
Section-C comprises of 6 questions of 3 marks each. Internal choice has been provided in 2 questions.
Section- D comprises of 4 questions of 5 marks each. Internal choice has been provided in 2 questions.
Section- E comprises of 3 Case Study based questions of 4 marks each.
SECTION -A
1 The value of p, for which (-4) is a zero of the polynomial : 1
x2=2x—(7p+3)is
(@ 3 (b) 2 (c)4 (d) -2
2 If p and g are prime numbers, then the HCF of p3q? and p?q is 1
@ p°q? (b) p*q (c) p*q? (d) pq
3 If one root of the polynomial f(x)=5x2+13x+m is reciprocal of other, then the value of m is 1
(@6 (b)0 ()5 (d) 1/5
4 If HCF(a,b)=12 and axb=1800, then LCM(a,b)= 1
(a) 200 (b) 300 (c) 150 (d) 100
S The distance between the points (acosx+bsinx,0) and (0,asinx-bcosx) is 1
(a) a® + b? (b) a* — b? (©VaZ+b>  (d)Va*-b?
6 Two equilateral triangles are always 1
(@) Congruent (b) similar but may not be Congruent
(c) neither Congruent nor similar ~ (d) both Congruent and similar
7 If the points A(4,3) and B(Xx,5) are on the circle with centre O(2,3), then the value of x is 1
(@0 (b) 1 (c)2 (d)3
8 The value of k for which the system of equations x+y-5=0 and 2x+ky=3, has no solution, is 1
(a) -2 (b)3 (c)4 (d)2

9 In AABC, D and E are the points on the sides AB and AC respectively such that DE|BC. If 1
AD=4x-3,AE=8x-7,BD=3x-1 and CE=5x-3, then the value of x is

(@)% (b) 4 (©1 (d) 2/3

10 The pair of linear equations x=5 and x= 7 has 1
(a) a unique solution (b) no solution
(c) Infinitely many solutions (d) only solution (5,7)

11 A girl calculates that the probability of her winning the first prize in a lottery is 0.08. If 1
6000 tickets are sold, how many tickets has she bought?
(a) 40 (b) 240 (c) 480 (d) 750

12 Graphically, the pair of equations 6x-3y+10=0;2x-y+9=0 represents two lines which are 1
(a)Intersecting at exactly one point  (b)intersecting at exactly two point (c)coincident
(d) parallel

13 If secy+tany=x, the value of secy is 1
@1(x-2) (L= ©i(x+3)  @a-d

2 x x2+1 2 x x
14 Acard is selected from a deck of 52 cards. The probability of being a red face card is 1

(2) 3/26 (b) 4/9 (c) 1/9 (d) 5/9



15 Given that m+2 (where m is a positive integer) is a zero of the polynomial 1
q(x)=x? — mx — 6. Which of these is the value of m?

(a)4 (b)3 (c) 2 (d)1

16 cos* A —sin*Ais equal to 1
(@) 2cos?A+1 (b)2cos?A—1  (c)cos?A (d) — cosA

17 Two coins are tossed simultaneously. The probability of getting atmost one head is 1
(@) 0.25 (b) 0.5 (c) 0.75 (d)1

18 (cosecx-sinx)(secx-cosx)(tanx+cotx) is equal to : 1
(@) 0 (b)1 (c) -1 (d)2

Directions: In the following questions (Q.19 & Q.20), A statement of Assertion (A) is followed by a statement
of Reason(R).Mark the correct choice as:

(@) Both A and R are true and R is the correct explanation of A.

(b) Both A and R are true but R is not the correct explanation of A.

(c)Ais true but R is false.

(d) A is false but R is true.

19 Assertion (A): V3 is an irrational number. 1
Reason (R): If p be a prime ,then ﬁ is an irrational number.
20 Assertion (A): The point (-1,6) divides the line segment joining the points (-3,10) and 1

(6,-8) in the ratio 2:7 internally.
Reason (R): Mid point of line segment PQ whose co-ordinate are P(x;, y;) and Q(x,, y,) is

given by R (xl:—xz,%)
SECTION -B
21 Two different dice are thrown together. Find the probability that the numbers obtained is a 2
doublet of odd numbers.
22 If mand n are zeros of polynomial p(x)=x? — 5x + 6, Then find the value of (m+n-3mn). 2
OR

If one of the zeros of the quadratic polynomial f(x)=4x2? — 8kx — 9 is equal in magnitude
but opposite in sign of the other, find the value of k.

23 In the given figure,DE||BC. 2
If AD=x, DB=x-2, AE=x+2 and EC=x-1, find the value of x.
C
E
A =t
24 Acard is drawn at random from a pack of 52 playing cards. Find the probability that the 2
card drawn is neither a red card nor a black king.
25 If sinx=cosx, then find the value of 2tanx+cos? x. 2
OR
If x=a cosz, y=b sinz then find the value of b%x? + a®y? — a?b?.
SECTIONC
26 If a and P are the zeros of the quadratic polynomial 3
fx) =x*—p(x+1)—c,showthat (a+ 1B +1)=1—c.
27 Find the values of y for which the distance between the points P (2, -3) and Q (10, y) is 10 3
units.
OR

If A and B are two points having coordinates (-2, -2) and (2, -4) respectively, find the
coordinates of P such that AP :g AB



28
29

30

31

32

33

34

35

36

If 3sinx+5c0sx=5, prove that 5sinx-3cosx=+3.

Prove that (v/5 + v/3) is irrational.
Find the probability that a number selected at random from the numbers 1, 2, 3, ..., 35 is a

(i) Prime number (ii) Multiple of 7 (iii) Multiple of 3 or 5

ABCD is a trapezium in which ABJ|DC and its diagonals intersect each other at the point O.

Show that 22 = £2
BO DO

OR
In the given figure, AB=AC. E is a point on CB produced. If AD is perpendicular to BC and
EF perpendicular to AC, prove that A ABD is similar to AECF.
A

SECTION -D
Find the largest number which on dividing 1251,9377 and 15628 leaves remainders 1,2 and
3 respectively.

If tanA=n tanB and sinA=m sinB, prove that cos? 4 =

OR
tanx cotx
Prove that: =1 + secx.cosecx
1-cotx 1-tanx

If AD and PM are medians of triangles ABC and PQR respectively, where AABC is similar
AB AD
to APQR, prove that — = —.
PQ PM
A boat goes 30 km upstream and 44 km downstream in 10 hours. In 13 hours, it can go 40
km upstream and 55 km downstream. Determine the speed of the stream and that of the

boat in still water.

m2-1
n2-1"

OR
Draw the graph of 2x+y=6 and 2x-y+2=0. Shade the region bounded by these lines and x-
axis. Find the area of the shaded region.
SECTION -E (CASE STUDY BASED QUESTIONYS)
The wall of a room is decorated with beautiful garlands, each garland forming a parabola.

0

| ,—-y_whkl;-' , o : Y

(@) What type of polynomial does a parabola represent?

(b) Find a quadratic polynomial with the sum and product of its zeroes as -1 and -2.

(c) If one of the zeros of the quadratic polynomial (k — 2)x? — 2x — 5is — 1, then find
the value of k.

OR

(c)If p,q are the zeros of the polynomial f(x)=x2 — 7x + 12, then find the value of % + i.

w w

1+1+2



37

38

The children of a school prepared a dance item for Republic Day parade for which they
were asked to form a rectangle by standing at a fixed distance, taken as one unit. Some
children, then formed a pattern inside the rectangle.

(@)If P is considered as the origin, then find the coordinate of B.
(b) Find the distance between the children standing at H and G.

in the ratio 2:3 internally.
OR

andy.

A man is trying to choose between two phone plans. The first plan of company A, cost
Rs20 per month, with calls costing and additional 25 paise per minute. The second plan

of company B charges Rs 40 per month, but calls cost 8 paise per minute. These two

situations are shown below which represent linear equations.
The total cost for the two companies are given by y=0.25x+20 and y=0.08x+40, where
X is the minutes used and y is the total cost per month.

Best Phone Plans

Top four things to consider when choosing the
best phone plan for your needs

ED =3 («ﬁ)

- - - - - - - -> B
|| A
T Z Y i
T " | E |
i 261 l]/_. :,
| K
Q
(c) Find the coordinate of the point that divides the line segment joining the points A and D
(c) If a point (x,y) is equidistant from Z(3,3) and X(6,6), then find a relation between x
HE o
_Jg:ge H 2231 337 g 01 AERRA AEEE
Bl [ iy
S A BRE et o ] o fREE s e cae ERR SRS
‘gjv B ciER I _ EERaun
(SR ,~ - ?'f!f"iff" T
__.x,.:o_‘?:,.::",i. fu22 =X——-
S22 sEaut 5 3[) 1 1.’01‘5Q.1_;Q FHE 1
B NI g UL

il

(a)If a person takes first plan and calls for 90 minutes in a month, then how much
amount he will have to pay whose cost for a month is given by y=0.25x+20?

(b) Another person takes second plan and also calls for 90 minutes in a month, then find
the amount which he has to pay when total cost is given by y=0.08x+40.

(c) Find the solution of the system of linear equations x+2y+1=0 and 2x-3y=12

OR

(c) If the system of pair of linear equations kx+2y=5, 3x+y=1 has a unique solution, then

find the value of k.
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D.AV.INSTITUTIONS, WEST BENGAL ZONE
PERIODIC TEST Il
SESSION 2024-2025

CLASS: X MAXIMUM MARKS:80
SUBJECT: SCIENCE TIME: 3 HOURS

General Instruction:

(1) This questions paper comprises 39 questions. All questions are compulsory.

(ii) This questions paper is divided into five sections A, B, C, D and E.

(iii) Section A-Question No.1 to 20 are multiple choice questions. Each question carries 1 mark.

(iv) Section B- Questions No.21 to 26 are very short answer type questions. Each question carries 2 marks.
Answer to these questions should be in the range of 30 to 50 words.

(v) Section C- Questions No. 27 to 33 are short answer type questions. Each question carries 3 marks. Answer
to these questions should in the range of 50 to 80 words.

(vi) Section D — Questions No0.34 to 36 are long answer type questions. Each question carries 5 marks. Answer
to these questions should be in the range of 80 to 120 words.

(vii) Section E- Questions No0.37 to 39 are of 3 source-based/case — based units of assessment carrying 4 marks
each with sub parts.

(viii) There is no overall choice. However, an internal choice has been provided in some sections. Only one of
the alternatives has to be attempted in such questions.

SECTION: A
1 Which of the following statements about the given reaction are correct?
3Fe (s) + 4H20 (g) — Fe304 (s) + 4 H2 (g)
(1) Iron metal is getting oxidized.
(1) Water is getting reduced.
(1) Water is acting as reducing agent.
(V) Water is acting as oxidising agent.

@ (1), (1) and (I11) (b) (1) and (I11)

(c) (), (1) and (1V) (d) (11) and (1V)
2 Identify the x, y & z in the following reaction-

2 Pb(NO3), (x) Y » 2 PbO (x) + 4 NO, (2) + O, (2)

(@) x=Solid, y=Liquid, z = Gas

(b) x = Liquid, y= Reaction condition, z = Gas

(c) x =No of molecules of Pb(NO3).& PbO , y = Reaction condition, z= No of molecules of O> &
NO2

(d) x = Physical state of Pb(NOz)2& PbO, y = Reaction condition, z= Physical state of O2 & NO>

Identify "A ’and type of reaction-

(a) Potassium iodide and combination reaction.
(b) Potassium nitrate and combination reaction.
(c) Lead iodide and single displacement reaction. 8
(d) Lead iodide and double displacement reaction

Potassium
iodide solution

e Pb(NO,), solution

Lead Nitrate Solution




The image shows the pH values of four solutions on a pH scale.

1 2 3 4 5 6 7 8 9 |10]11)12|13| 14

(A A I

A B c D

Which solutions are alkaline in nature?

(@ Aand B (b) Band C (c)Cand D (dAandD

On adding dilute HCI to copper oxide in a beaker, the solution turns blue-green due to formation of-
(@) Cu(OH) (b) Cu(NOs3)2 (c) CuCly (d) CuSO4

In an attempt to demonstrate electrical conductivity through an electrolyte , the following apparatus
was set up.

6 volt battery ———e ('5)‘_ Bulb
ihhl 1

we— Switch

Beaker

Nail
Dilute NaOH
solution

 — i
Rubber
cork

Which among the following statement(s) is (are) correct?

(1) Bulb will not glow because electrolyte is not acidic.

(ii) Bulb will glow because NaOH is strong base and furnishes ions for conduction.
(iii) Bulb will not glow because circuit is incomplete

(iv) Bulb will not glow because it depends upon the type of electrolyte solution.

(@) (i) and (iii) (b) (ii) and (iv) (c) (ii) only (d) (iv) only
When a small amount of acid is added to water, the phenomena which occur are:

I. Dilution I1. Neutralization

[11. Formation of H3O* IV. Salt formation

The correct statements are:

(@) 1 & I (b) 11 & IV ©)1&Il d) &IV

Which of the following is the correct equation for aerobic respiration?
(@) Glucose + Oxygen —» Carbon dioxide + Water + Energy
(b) Carbon dioxide + Water + Energy —» Glucose + Oxygen
(c) Glucose + Carbon dioxide —» Water + Oxygen + Energy
(d) Oxygen + Water —» Glucose + Carbon dioxide + Energy

Haemoglobin and chlorophyll have similar structures.
- A molecule of haemoglobin is composed of the atoms of 4 elements - carbon, Hydrogen,
Oxygen, and Nitrogen, all four organised around iron.

- A chlorophyll is composed of the same elements, which are organised around Magnesium.
Considering the above information, which element of haemoglobin is MOST LIKELY responsible
for the red colour of our blood?

(a) Hydrogen

(b) Nitrogen

(c) Carbon

(d) Iron
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Identify which of the following statements about autotrophs is false?

(a) Autotrophs produce their own food using external energy sources.
(b) Autotrophs include both plants and certain bacteria.

(c) Autotrophs are unable to convert solar energy into chemical energy.
(d) Autotrophs are vital in supporting ecosystems by providing energy to heterotrophs.
If salivary amylase is lacking in the saliva, which of the following events in the mouth cavity will be
affected:

a) Protein breaks down into amino acid.

b) Starch breaks down into sugar

c) Fat breakdown into fatty acid and glycerol.

d) Absorption of vitamin.

Which hormone is involved in the regulation of blood sugar levels?

(1) Estrogen

(11) Growth Hormone

(1) Insulin

(IV) Thyroxine

Choose the correct option

(@) 11 & 111 both are correct options

(b) 1 & 1l both are correct options

(c) Only 11l is the correct option

(d) all are correct options

The diagrams showing the correct path of the ray after passing through the lens given below:

A
e

Fz

III

(@) Iland Il only (b) I'and 11 only

(c) I, and HI @1, lland IV

The human eye can focus objects at different distances by adjusting the focal length of the eye lens.
This is due to

(@) presbyopia (b) accommodation (c) near-sightedness  (d)farsightedness.

Identify which of the following statements about thyroxin is incorrect?
(a) Thyroid gland requires iodine to synthesize thyroxin.

(b) Thyroxin is also called thyroid hormone.

(c) It regulates protein, carbohydrates and fat metabolism in the body.
(d) Iron is essential for the synthesis of thyroxin.
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The figure shows the movement of a stem. Plant hormone Auxin regulates cell elongation and
growth of plants in a particular direction.

Roots of plants are:
(a) Positively geotropic
(b) Negatively geotropic
(c) Positively phototropic
(d) None of these
Q.No0.17 to 20 consists of two statements- Assertion (A) and Reason (R). Answer these
guestions selecting the appropriate option given below:
(a) Both A and R are true and R is the correct explanation of A.
(b) Both A and R are true and R is not the correct explanation of A.
(c) Alistrue but R is false.
(d) Ais false but R is true.
Assertion (A): Antacids are used to get rid of pain caused by indigestion.
Reason (R): Antacids neutralise the excess acid produced in the stomach.
Assertion(A): Abscisic acid is a stress hormone.
Reason(R): Stimulation of Abscisic acid occurs in adverse condition.
Assertion (A) The rate of breathing in aquatic organisms is much slower than that seen in terrestrial
organisms.
Reason (R) The amount of oxygen dissolved in water is very low as compared to the amount of
oxygen in air.
Assertion(A): A dentist uses a concave mirror to examine a cavity.
Reason(R): A concave mirror forms enlarged, virtual image of an object placed between the pole
and focus.

SECTION: B

A brown substance ‘A ‘on heating in air forms a substance B. When hydrogen is passed over heated
B, it changes back to A.
(i) What are the names of substances A and B?
(if) Write chemical equations for both the reactions.
Diffusion is insufficient to meet the oxygen requirement of multicellular organisms like human.
State reason.
You have eaten lunch which contains paneer curry and bread-butter. Which enzymes are responsible
for digestion of these food items in the small intestine?
Calculate the speed of light in a medium whose refractive index is 4/3.
Given the speed of light in glass is 2 x 108m/s and its refractive index is 1.5.

OR
The refractive index of a dense flint glass is 1.65 and for alcohol is 1.36 with respect to air. Find the
refractive index of dense flint glass with respect to alcohol.



25 A natural phenomenon shown in figure. Observe this and answer the following.

e
T
H i, ﬁ
orizon Eye of observer
2y
\ )

(i) Identify the natural phenomenon shown in figure.
(i1) What happens to the sun’s light as it enters the atmosphere? Explain.
26 1) A hormone produced in males ‘X’ is responsible for the secondary sexual characters in male

human beings. Identity ‘X".

i1) Write the names of parts (i) and (ii) in the diagram of a neuron given below.

OR

Label the parts (a), (b), (c) and (d) in the given figure.

(0)

SECTION: C

27 A student performed the following experiment. Observe the experiment given below carefully and
answer the following

questions:

Wafting gas gently
towards nose

Do not point
thc mouth of Boiling tube
boiling tube N4 Ferrous sulphate
at your neighbours crystals

or yourself

Burner

(a) What happens when ferrous sulphate crystals are heated?

(b) What types of chemical reaction occurs in this change?
5
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(c) Write the balanced chemical equation in this activity.
OR
Observe the experiment given below carefully and answer the following questions:

//“ -‘ Test tube

{ T hread

Irom nmnail

Copprer sulphate
solution

(a) What happens when Iron nails dipped in copper sulphate solution?

(b) What types of chemical reaction occurs in this change?

(c) Write the balanced chemical equation in this activity.

Give reason of the following statements:

(@) pH change as the cause of tooth decay.

(b) Tartaric acid is used in baking soda.

(c) During summer season, a milkman usually adds a small amount of baking soda to fresh milk.
Classify the following into reflex action and involuntary actions of brain.

i) Beating of heart.

i) Withdrawing your hand immediately on touching a hot object.

iii) Change in size of pupil in response to intensity of light.

iv) Riding a bicycle.

V) Sneezing.

vi) Pulling up the leg immediately when foot falls on some sharp object.

a) Name any two parts from (a) to (e ) in the diagram.

b) Trace the sequence of events which occur when the person touches extreme hot water
unknowingly.

(C
,
}//
NS
_Z 24 o~

VAR
_ A

oy~ (B >

= Ve

!
4

(d)
(@)

\

At what distance should an object be placed from a convex lens of focal length 18cm to obtain an
image at 24cm from it on the other side. What will be the magnification produced in this case?

(a) A concave mirror produces 3 times enlarged and erect image of an object placed at 10cm in front
of it. Calculate the image distance.

(b) Show the formation of the image with the help of a ray diagram when an object is placed
between pole and focus of a concave mirror.

A person is not able to see the object distinctly when placed within 25 cm from him but can see
clearly when object is kept at 50 cm from him.
(i) What is near point vision for him?
(i) Identify the nature lens prescribed by the doctor to correct the eye defect.
6
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35

36

(iii) What may be the cause of this eye defect?
(iv) Draw a suitable ray diagram for the correction this defect.
SECTION: D
A metal carbonate X on reacting with an acid gives a gas which when passed through a solution Y
gives the carbonate back. On the other hand, a gas G that is obtained at anode during electrolysis of
brine (write the chemical equation) is passed on dry Y, it gives a compound Z, used for disinfecting
drinking water. Identity X, Y, G and Z. Also, write all the chemical equation involved.
OR

A white powder is used by doctors to support fractured bones. Rahul found that the white powder,
which he stored in a container, has become very hard and lost its binding nature.

a. Write the name and chemical formula of the powder.

b. What is the reason for the above observation? Also, write a chemical equation to represent the
reaction taking place.

c. Give any two uses of the white powder other than for plastering or smoothening of walls.

(@) The following figure shows the human elementary canal. Identify B,C,D,F,G and H.

(b) Write down the function of C and F in food digestion.
OR

Plant transport systems will move energy stores from leaves and raw materials from roots. These
two pathways are constructed as independently organised conducting tubes. One, the xylem moves
water and minerals obtained from the soil. The other, phloem transports products of photosynthesis
from the leaves where they are synthesised to other parts of the plant.
a) What are the different parts of xylem?
b) What do you meant by the term transpiration?
c) What are the advantages of transpiration?
d) What is translocation?
A spherical mirror produces an image of magnification -1 on a screen placed at a distance of 50cm from
the mirror.
(a) Write the type of mirror.
(b) Find the distance of the image from the object.
(c) What is the focal length of the mirror?
(d) Draw the diagram to show the image formation in this case.
OR
(a) Draw ray diagram to show the refraction through a glass slab.
(b) What will be the angle of emergence if the angle of incidence on a glass slab is:
i) 45°
i) 0°
(c) State Snell’s law? Calculate the refractive index of medium A with respect to medium B if angle
of incidence in medium A is 45° and angle of refraction in medium B is 30°.

7



SECTION: E
37  The earlier concept of oxidation and reduction is based on the addition or removal of oxygen or

hydrogen elements, so in terms of oxygen and hydrogen, oxidation is addition of oxygen to a
substance and removal of hydrogen from a substance. On the other hand, reduction is addition of
hydrogen to a substance and removal of oxygen from a substance. The substance which gives
oxygen to another substance or removes hydrogen from another substance in a redox reaction is
known as oxidising agent, while the substance which gives hydrogen to another substance or
removes oxygen from another substance in a redox reaction is known as reducing agent.
Based on the above information answer the following questions.

(a) What is the phenomenon of copper getting tarnished?

(b) What type of chemical reaction causes rancidity?

(c) Identify the oxidizing and reducing agents in the given chemical reaction: MnO> + 4HCI =

MnCl; + Cl2 + 2H20
OR

(c) Identify the substance oxidised and substance reduced in the given chemical reaction:
V>0s5 + 5Ca - 2V + 5Ca0
38 Raima, a 10-year-old girl, is significantly shorter than her peers and shows delayed development.
Anita is suffering from another problem as is also 10 years old, she shares her problem regarding
irregular Menstruation Cycle to Raima.
(@) Which kind of hormonal deficiency is responsible for the short height of Raima and from
where this hormone is secreted?
(b) Which hormone is necessary to regulate Menstrual Cycle. Which gland secretes this hormone?
(c) Name a gland that secretes a hormone as well as Digestive Juice. Name the secretions and their
functions.
OR
(c) Which hormone is necessary for development of female sex organ? Specify the particular age
of human body when Estrogens and Testosterone hormones changes their secretion rate.

39 A-rainbow is an excellent demonstration of the dispersion of light and support the evidence that
visible light is composed of seven distinct colours. Each individual water-droplet present in air acts
as tiny prism and disperses the sun’s light.

i

(i) Write down the correct order of the natural phenomena which are involved in the formation of
rainbow.

(i) Arrange different colours in ascending order of angle of deviation.

(iii) What is the reason behind the phenomenon of splitting of white light into its various colours?

OR

Is it possible to get back the white light after splitting into its components? Support your answer
with suitable diagram.

kkhkhkhkhhhkhkhkkk
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D.AV.INSTITUTIONS, WEST BENGAL ZONE
PERIODIC TEST Il
SESSION: 2024-2025

CLASS: X MAXIMUM MARK: 80
SUBJECT: SOCIAL SCIENCE TIME: 3 HOURS

General instructions:

Question paper comprises six sections-A, B, C, D, E and F. There are 37 questions in the question
paper. All questions are compulsory.

Section A-From questions 1 to 20 are MCQ s of 1mark each.

Section B-Question no. 21 to 24 are very short Answer Type Questions, carrying 2 marks.
Answer to each question should not exceed 40 words.

v, Section C-Question no. 25 to 29 are Short Answer Type Questions, carrying 3 marks each.
Answer to each question should not exceed 60 words.

V. Section D -Question no.30 to 33 are long answer type questions, carrying 5 marks each. Answer
to each question should not exceed 120 words.

Vi, Section E-Question no. 34 to 36 are case based questions with three sub questions and are of 4
marks each.

vii.  Section F — Questions no.37 is map based, carrying 5 marks with two parts, 37.a. from History (2
marks) and 37.b. from Geography (3 marks). Attach the map with the answer sheet.

viii.  There is no overall choice in the question paper. However, an internal Choice has been provided
in few questions. Only one of the choices in such questions has to be attempted.

iX. In addition to this, separate instructions are given with each section and questions, wherever
necessary.

X. The question paper has a total of 7 numbers of pages.

SECTION-A (Multiple Choice questions)
1 Identify the personality with the help of given features- 1

*He was an Italian statesman

*He spoke French much better than Italian
*He was a tactful diplomat

*He belonged to a royal family

a. Giuseppe Mazzini b. Count Camillo Cavour
c. Giuseppe Garibaldi d. Victor Emmanuel
2. The form of currency used for more than a millennia ago- 1
a. Rupaya b.Rupees
c. Paisa d. Cowdi or cowries.
3.
Which of the following aspects best signifies the given image of Germania-
a. Heroism & Justice b. Folk & Culture
c. Austerity & Asceticism  d Revenge & Vengeance 1
4. Name the most powerful weapon used by Spanish to conquer America- 1
a. Atom Bomb. b. Poisonous Gas
c¢. Small pox d Guns

5. There are two statements marked as Assertion (A) and Reason (R). Mark your answer as per 1
the codes provided below-
Assertion (A)- Tiger population had reduced rapidly in India from 55,000 to just 1827 in

1973.

Reason (R)- Increase in demand of traditional medicines in African countries led to large
scale poaching of tigers.



10.

11.

12.

13.

14.

Codes-
a. Both A and R are correct and R is the correct explanation of A.
b. Both A and R are correct, but R is not the correct explanation of A.
c. Alis true, but R is false.
d. Ais false, but R is true.
Arrange the following in correct sequence regarding Rainwater Harvesting-
I. Filtered using sand and bricks
ii. Rooftop rainwater is collected using a PVC pipe
Iii. Excess water from the sump is taken to the well
iv. Underground pipe takes water to sump for immediate usage
v. Water from the well recharges the underground
a. v, iii, i, iiand iv b.iv, i, iii, v and ii
c. ii, v, i, iii and iv d. ii, i, iv, v and iii
Identify the correct reason for the formation of gullies in bad lands-
a. When moving wind blows away loose soil of flat land.
b. When water flows over large areas down a slope.
c. Formed when running water cuts through soils making deep channels.
d. Formed when ploughing is done in a wrong way.
Match the following given in Column A with those in Column B

Column A Column B
A. Sri Lanka got independence 1. 1956
B. Act declared Sinhala as the official language 2. 2009
C. Civil war ended in Sri Lanka 3.1948
CODE -
A B C A B C
a2 1 3 b. 3. 1. 2
c.2. 3 1 d 1 2. 3

In the question given below, there are two statements marked as Assertion (A) and Reason
(R). Mark your answer as per the options given below-
Assertion (A)- Power Sharing is desirable because it helps to reduce conflicts between social
groups.
Reason (R)- When power is shared among different social groups each group feels
represented and their interests are accommodated in decision making processes.
Codes-
a. Both A and R are true, but R is the correct explanation of A
b. Both A and R are true, but R is not the correct explanation of A
c. Alis true, but R is false
d. Ais False, but R is true
Feminist movements are aimed at
a. Liberty b. Equality c. Participation d. Power
Which region of the world has the highest representation of women in their national
parliaments?
a. Pacific b. Americas c. Middle-east d. Nordic countries
“An act was passed in Sri Lanka to recognise Sinhala as the only official language”-Identify
the correct statement related to the statement.
a. Tamil and Sinhala of Sri Lanka supported the Act.
b. Tamil and Sinhala of Sri Lanka did not support the Act.
c. Relations between the Sinhala and Tamil communities strained over time.
d. Tamil and Sinhala community did not react.
In which system hereditary occupational division was sanctioned by rituals?
a. Aparthied system. b. Religious system
¢ Caste system d. Political system
In which level of government one-third seats are reserved for women in India?
a. Panchayats and Municipals b. Lok Sabha
c. State Assemblies d. Rajya Sabha

2
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16.

17.

18.

19.

20.

21.
22,

23.

24,

25.

The French speaking people accepted equal representation in Brussels because-

a. Dutch-speaking communities had accepted equal representation in the Central Government

b. German-speaking people did not demand for equal representation

c. Dutch-speaking community forced the French speaking people to accept equal
representation

d. Dutch-speaking people were less in number in Brussels.

GDRP is the total value of produced within a country during a particular year.
a. all goods and services b. all final goods and services
c. all intermediate goods and services d. all intermediate and final goods and services

Anil has got a job in a company where the payment is very good. But he found that it does
not have much job security and working environment is not cordial. So, Anil declined the
offer. Which of the following sentence best describes the situation-

a. Material things that money can buy is more important.

b. Besides seeking more income there are other goals that one may seek for.

c. The quality of our life depends on our income.

d. Materialistic demands should be ignored.

Match the following-

LIST A LISTB
A. Per capita Income 1. Total Income
B. National Income. 2. Human Development Index
C. Body Mass Index 3. Average Income
D. Decent standard of living. 4. Proper Nutrition
CODES
A B CD. ABCD
a. 4132 b. 32 41
c. 1 432 d 3142
Disguised unemployment occurs when people are:
a. not paid for their work b. working more than their actual potential
c. not willing to work d. apparently working without any contribution to total output.

Arrange the following in the correct sequence —
I. Transporting cloth to the workshops
ii. Sale in shops and showrooms
iii. Spinning the yarn
iv. Weaving of the fabric
Options —
a. i--iv--iii—ii b. iii —iv—i—ii C. IV—i--ii—iii d. ili—iv--ii--i
SECTION-B
(VERY SHORT ANSWER QUESTIONS)
Explain the aim to form Zollverein, a Customs Union, in 1834 in Germany?
“Majoritarianism adopted in Sri Lanka was against the spirit of democracy.” Justify the
statement.
‘Irrigation has changed the cropping pattern of many regions in India’. Analyse this
statement.
OR
Why is “Laws of Inheritance” responsible for fragmentation of land holding in India?
Is India a federal country? Give reasons in support of your answer.
SECTION-C
(SHORT ANSWER BASED QUESTIONS)
Discuss the significance of the Swadeshi movement in India’s struggle for independence.
How did it promote nationalist sentiments and challenge British economic dominance?
Provide examples to support your answer.
OR
How the plantation workers in Assam had their own understanding of Mahatma Gandhi and
the notion of Swaraj? Explain.

N



26.

27.

28.

29.

30.

31.

32.

33.

34.

Illustrate with the help of relevant example that community has conserved the pristine 3
vegetation and wildlife of India since ages.

What does the history of developed countries indicate about the shifts that have taken place 3
between sectors?

OR
Explain three reasons for growing importance of service sector in India.
What is secularism? Write any two features of secularism in India. 3

OR
Write any three arguments to show that caste alone cannot determine election results in India.
Kerala, despite having a lower per capita income than Haryana ranks higher in human 3
development. Does this indicate that per capita income is an inadequate criterion for
comparing development? Discuss.

SECTION -D
(LONG ANSWER BASED QUESTIONS)

Describe the explosive conditions that prevailed in Balkans after 1871 in Europe. 5

OR
Culture had played an important role in the development of Nationalism in Europe during the
18th and 19th centuries. Support the statement with examples.
Suggest the initiatives taken by the government to ensure the increase in agricultural 5

production.
OR
Explain any five features of difference between intensive subsistence and plantation farming
of India.
What changes had taken place in local government according to the constitutional 5
amendment in 19927
OR
What is decentralization? What are the advantages of decentralization?

a. Give two reasons why different people have different developmental goals? 2+3
b. lllustrate with an example how development initiative that benefits one group of people
may negatively impact another group of people.

OR
a. “Money cannot buy all the goods and services that one needs to live well”. Do you agree
with this statement? Justify your answer with any two suitable arguments.
b. How can the collective provision of goods and services enhance economic efficiency and
improve social welfare?
SECTION-E
(CASE BASED QUESTIONS)
Read the extract and answer the following questions.
We believe that it is the inalienable right of the Indian people as of any other people, to have
freedom and to enjoy the fruits of their toil and have the necessities of life, so that they may
have full opportunities of growth. We believe also that if any government deprives people of
these rights and oppresses them, the people have a further right to alter it or to abolish it. The
British government in India had not only deprived the Indian people of their freedom but had
based itself on the exploitation of the masses and had ruined India economically, culturally
and spiritually. We believe therefore, that India must sever the British connection and attain
Purna Swaraj or Complete Independence.
Read the given extract and answer the following questions-

34.1. Why was freedom considered an inalienable right of the Indian people? 1
34.2. Why was Purna Swaraj considered essential by the people of India? 1
34.3. Explain the significance of the Lahore Session of Congress (1930). 2



35.

36.

37.

Read the extract and answer the following questions.

In ancient India, along with sophisticated hydraulic structures there existed an extraordinary
tradition of water harvesting system. People had an in-depth knowledge of rainfall regimes
and soil types and developed wide ranging techniques to harvest groundwater, river water
and flood water in keeping with the local ecological conditions and their water needs. In
hilly and mountainous regions people build diversion channels like the ‘kuls’ and ‘guls’ of
Western Himalayas for agriculture. Rooftop rainwater harvesting was very commonly
practiced to store drinking water particularly in Rajasthan.

Read the given extract and answer the following questions —

35.1. Mention any two methods of traditional water- harvesting used in India.

35.2. How do people of Rajasthan utilise ‘palar pani’ for self-consumption?

35.3 Explain any two benefits of rainwater harvesting.

Read the extract and answer the following questions-

If children who are currently working as child laborers are to attend schools, we will require
more buildings, more teachers, and other staff. A study conducted by the erstwhile Planning
Commission (now known as NITI Aayog) estimates that nearly 20 lakh jobs can be created in
the education sector alone. Similarly, if we are to improve the health situation, we need many
more doctors, nurses, health workers, etc., to work in rural areas. These are some ways by
which jobs would be created. Every state or region has the potential for increasing the
income and employment for people in that area. It could be tourism, regional craft industry,
or new services like IT. Some of these would require proper planning and support from the
government. For example, the same study by the Planning Commission says that if tourism
as a sector is improved, every year we can give additional employment to more than 35 lakh
people. We must realize that some of the suggestions discussed above would take a long time
to implement. For the short term, we need some quick measures. Recognizing this, the
central government in India made a law implementing the Right to Work in about 625
districts of India. It is called the Mahatma Gandhi National Rural Employment Guarantee
Act 2005 (MGNREGA 2005). Under MGNREGA 2005, all those who are able to, and are in
need of work in rural areas, are guaranteed 100 days of employment in a year by the
government. If the government fails in its duty to provide employment, it will give
unemployment allowances to the people.

a. What is the current name of the organization formerly known as the Planning Commission
of India?
b. Under which law of the central government was the Mahatma Gandhi National Rural
Employment Guarantee Act (MGNREGA) implemented?
c. Mention two measures how employment opportunities can be enhanced in urban areas?
SECTION-F
(MAP SKILL BASED QUESTION)

a) Two places A and B have been marked on the given map of India.
Identify them and write their correct names on the lines drawn near them.

A. A place where Civil Disobedience Movement started.

B. A place where Gandhiji went to organise Satyagraha Movement among Cotton mill

workers.

b) 1. On the given political outline map of India locate and label any two of the following
with suitable symbols.
I. A river valley project on Chenab
ii. A river valley project on Narmada
iii. A river valley project on Krishna
I1. On the same map two features are marked as P and Q. Identify any one of them with the
help of the information given and write their correct names on the lines drawn near to them.
P. A major rubber producing state

OR
Q. A major soil type.
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